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 BBCCT-103  

B.Sc. (HONOURS) IN BIOCHEMISTRY  

(BSCBCH) 

Term-End Examination 

June, 2022 

 

BBCCT-103 : CELL BIOLOGY 

Time : 3 hours Maximum Marks : 70 

Note :  Question No. 1 is compulsory. Attempt any  

five questions from questions no. 2 to 8. 

 

1. (a) State whether the following statements are  

true (T) or false (F) : 51=5 

(i) Archaea have organelles. 

(ii) Mitochondrial proteins are translocated 

in a partially unfolded state. 

(iii) All eukaryotes are multicellular 

organisms. 

(iv) Lysosomal enzymes work at acidic pH. 

(v) Inflammation is a hallmark of 

necrotic death. 
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(b) Define the following terms : 51=5 

(i) Magnification 

(ii) Svedberg Unit 

(iii) Desmosomes 

(iv) Photosynthesis  

(v) Cell Wall 

2. (a) Describe the structural organisation of an 

Animal cell with labelled diagram. 6 

(b) Differentiate between any two of the 

following :   3+3=6 

(i) Light Microscopy and Electron 

Microscopy 

(ii) Differential Centrifugation and 

Density Gradient Centrifugation 

(iii) Apoptosis and Necrosis 

3. Describe the structure and functions of 

Mitochondria. 12 

4. (a) Explain the role of microtubules. 6 

(b) Write short notes on the following in about 

100 words : 3+3=6 

(i) Signal Hypothesis 

(ii) Nuclear Pore Complex 
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5. What is Meiosis ? Describe its different stages 

with labelled diagrams. 2+10=12 

6. Describe in detail the process of protein 

trafficking to peroxisomes. 12 

7. Explain the main features of the following  

phases : 34=12 

(a) G1 Phase 

(b) S Phase 

(c) G2 Phase 

8. Write principle, instrumentation and 

applications of fluorescence activated cell sorting 

technique. 2+4+6=12 
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 ~r.~r.gr.gr.Q>r.-103  

O¡d-agm`Z _| {dkmZ ñZmVH$ (Am°Zg©)  
(~r.Eg.gr.~r.gr.EM.) 

gÌm§V narjm 

OyZ,  2022 

 

~r.~r.gr.gr.Q>r.-103 : H$mo{eH$m O¡{dH$s 

g_` : 3 KÊQ>o  A{YH$V_ A§H$ : 70 

ZmoQ> :  àíZ g§»`m 1 A{Zdm`© h¡ & àíZ g§»`m 2 go 8 VH$ {H$Ýht 

nm±M àíZm| Ho$ CÎma Xr{OE & 
 

1. (H$) ~VmBE {H$ {ZåZ{b{IV H$WZ gË` (T) h¢ AWdm 

AgË` (F) : 51=5 

(i) Am{H©$`m _| A§JH$ hmoVo h¢ & 

(ii) _mBQ>moH$m°pÝS´>`mB© àmoQ>rZ Am§{eH$ ê$n go 

Ad{bV AdñWm _| ñWmZm§V[aV hmoVo h¢ & 

(iii) g^r `yH¡$[a`moQ> ~hþH$mo{eH$s` Ord hmoVo h¢ & 

(iv) bmBgmogmo_r E§µOmB_ Aåbr` pH na g{H«$` 

hmoVo h¢ & 

(v) àXmh D$VH$j`r _¥Ë`w H$m à_mU-{M• h¡ & 
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(I) {ZåZ{b{IV nXm| H$mo n[a^m{fV H$s{OE : 51=5 

(i) AmdY©Z 

(ii) ñdoS>~J© BH$mB© 

(iii) S>oñ_mogmo_ 

(iv) àH$me-g§íbofU 

(v) H$mo{eH$m {^{Îm 

2. (H$) EH$ àmUr H$mo{eH$m Ho$ g§aMZmË_H$ g§JR>Z H$m 

Zm_m§{H$V {MÌ Ho$ gmW dU©Z H$s{OE & 6 

(I) {ZåZ{b{IV _| go {H$Ýht Xmo  Ho$ ~rM A§Va ñnîQ> 

H$s{OE : 3+3=6 

(i) àH$me gyú_Xeu Am¡a BboŠQ>́m°Z gyú_Xeu 

(ii) {d^oXr AnHo$ÝÐrH$aU Am¡a KZËd àdUVm 
AnHo$ÝÐrH$aU 

(iii) EnmonQ>mo{gg Am¡a ZoH«$mo{gg 

3. _mBQ>moH$m°pÝS´>`m H$s g§aMZm Am¡a H$m`mªo H$m dU©Z H$s{OE & 12 

4. (H$) gyú_Z{bH$mAm| H$s ^y{_H$m H$s ì`m»`m H$s{OE & 6 

(I) {ZåZ{b{IV na bJ^J 100 eãXm| _| g§{jßV 

{Q>ßn{U`m± {b{IE : 3+3=6 

(i) {g½Zb n[aH$ënZm 

(ii) Ho$ÝÐH$ a§Y« H$m°ånboŠg 
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5. AY©gyÌr {d^mOZ Š`m h¡ ? Zm_m§{H$V {MÌm| Ho$ gmW BgH$s 

{d{^Þ AdñWmAm| H$m dU©Z H$s{OE & 2+10=12 

6. naAm°Šgrgmo_ _| àmoQ>rZ Q´>¡{\$qH$J H$s à{H«$`m H$m {dñVma go 

dU©Z H$s{OE & 12 

7. {ZåZ{b{IV àmdñWmAm| Ho$ _w»` bjU ~VmBE : 34=12 

(H$) G1 àmdñWm 

(I) S àmdñWm 

(J) G2 àmdñWm 

8. à{VXrßV g{H«${`V H$mo{eH$m N>±Q>Zr VH$ZrH$ Ho$ {gÕm§V, 

CnH$aU Am¡a AZwà`moJm| Ho$ ~mao _| {b{IE & 2+4+6=12 


